九州大学学術情報リポジトリ
Kyushu University Institutional Repository

# On harmonic function for the killed process upon hitting zero of asymmetric Lévy processes 

 Yano，Koujihttps：／／hdl．handle．net／2324／1397714

出版情報：Journal of Math－for－Industry（JMI）．5（A），pp．17－24，2013．九州大学大学院数理学研究院 バージョン：
権利関係：

# On harmonic function for the killed process upon hitting zero of asymmetric Lévy processes 

Kouji Yano<br>Received on November 28, 2012 / Revised on January 18, 2013


#### Abstract

For a certain class of asymmetric Lévy processes where the origin is regular for itself, the renormalized zero resolvent is proved to be harmonic for the killed process upon hitting zero. Keywords. Lévy process, harmonic function, excursion theory


## 1. Introduction

Let $\left\{X(t), \mathbb{P}_{x}\right\}$ be the canonical representation of a reflecting Brownian motion on $[0, \infty)$ and let $\left\{X(t), \mathbb{P}_{x}^{0}\right\}$ denote its killed process upon hitting zero. Let $\boldsymbol{n}$ denote the characteristic measure of excursions away from zero. It is then well-known that

$$
\mathbb{E}_{x}^{0}[X(t)]=x \quad \text { for all } t>0 \text { and } x \geq 0
$$

and

$$
\boldsymbol{n}[X(t)] \text { is finite constant in } t>0
$$

where we write $\boldsymbol{n}[F]$ for $\int F \mathrm{~d} \boldsymbol{n}$. In this case, we say that the function $h(x) \equiv x$ is harmonic for the killed process. Moreover, it is well-known that the harmonic transform $\left\{X(t), \mathbb{P}_{x}^{h}\right\}$ of the killed process with respect to $h$ is the 3 dimensional Bessel process, and that the excursion measure $\boldsymbol{n}$ enjoys the disintegration formula

$$
\begin{equation*}
\boldsymbol{n}(\cdot)=\int_{0}^{\infty} \mathbb{P}_{0}^{h}(\cdot \mid X(t)=0) \rho(t) \mathrm{d} t \tag{1.1}
\end{equation*}
$$

where $\rho(t)$ is a certain non-negative function.
The author [9] has obtained disintegration formula similar to (1.1) for one-dimensional symmetric Lévy processes, where the renormalized zero resolvent was proved to be harmonic for the killed process. In this paper, we study the asymmetric case.
This paper is organized as follows. In Section 2, we recall, without proofs, several theorems of the excursion theory for Lévy processes. In Section 3, we study the renormalized zero resolvent. In Section 4, we recall the earlier results in the symmetric case. In Section 5, we discuss strictly stable case. Section 6 is devoted to the study of the asymmetric case.

## 2. GENERAL DISCUSSIONS

Let $\left\{X(t), \mathbb{P}_{x}\right\}$ be a Lévy process on $\mathbb{R}$. We have $\mathbb{E}_{0}\left[\mathrm{e}^{i \lambda X(t)}\right]=\mathrm{e}^{-t \Psi(\lambda)}$ for $\lambda \in \mathbb{R}$, where the Lévy-

Khintchine exponent $\Psi(\lambda)$ may be represented as

$$
\Psi(\lambda)=i b \lambda+v \lambda^{2}-\int_{\mathbb{R}}\left(\mathrm{e}^{i \lambda x}-1-i \lambda x 1_{(-1,1)}(x)\right) \nu(\mathrm{d} x)
$$

for some constants $b \in \mathbb{R}$ and $v \geq 0$ and some measure $\nu$ on $\mathbb{R}$ such that $\nu(\{0\})=0$ and $\int_{\mathbb{R}}\left(|x|^{2} \wedge 1\right) \nu(\mathrm{d} x)<\infty$. The real and imaginary parts are denoted by $\theta(\lambda)$ and $\omega(\lambda)$, respectively:

$$
\begin{aligned}
& \theta(\lambda)=\operatorname{Re} \Psi(\lambda)=v \lambda^{2}+\int_{\mathbb{R}}(1-\cos \lambda x) \nu(\mathrm{d} x), \\
& \omega(\lambda)=\operatorname{Im} \Psi(\lambda)=b \lambda+\int_{\mathbb{R}}\left(\lambda x 1_{(-1,1)}(x)-\sin \lambda x\right) \nu(\mathrm{d} x) .
\end{aligned}
$$

Note that $\theta(\lambda) \geq 0, \theta(-\lambda)=\theta(\lambda)$ and $\omega(-\lambda)=-\omega(\lambda)$ for all $\lambda \in \mathbb{R}$.
For $x \in \mathbb{R}$, we denote

$$
T_{x}=\inf \{t>0: X(t)=x\}
$$

We say that the state 0 is regular for itself if $\mathbb{P}_{0}\left(T_{0}=0\right)=$ 1. The following theorem is due to Kesten [5] and Bretagnolle [1].
Theorem 2.1 ([5] and [1]). The process $\left\{X(t), \mathbb{P}_{x}\right\}$ is not a compound Poisson process and is such that the state 0 is regular for itself if and only if the following conditions hold:
(L1) $\int_{\mathbb{R}} \operatorname{Re} \frac{1}{q+\Psi(\lambda)} \mathrm{d} \lambda<\infty$ for all $q>0$;
(L2) either $v>0$ or $\int_{(-1,1)}|x| \nu(\mathrm{d} x)=\infty$.
We introduce the following condition which is stronger than (L1):
$\left(\mathbf{L 1}^{\prime}\right) \int_{0}^{\infty} \frac{1}{q+\theta(\lambda)} \mathrm{d} \lambda<\infty$ for all $q>0$.
By ( $\mathbf{L} \mathbf{1}^{\prime}$ ), we have

$$
\left|\mathrm{e}^{-t \Psi(\lambda)}\right|=\mathrm{e}^{-t \theta(\lambda)} \in L^{1}(\mathrm{~d} \lambda),
$$

and hence we may invert the Fourier transform so that the function

$$
p_{t}(x)=\frac{1}{2 \pi} \int_{\mathbb{R}} \operatorname{Re}^{-i \lambda x-t \Psi(\lambda)} \mathrm{d} \lambda, \quad t>0, x \in \mathbb{R}
$$

is a continuous transition density with respect to the Lebesgue measure, i.e.,

$$
\mathbb{E}_{x}[f(X(t))]=\int_{\mathbb{R}} f(y) p_{t}(y-x) \mathrm{d} y
$$

Again by ( $\mathbf{L} \mathbf{1}^{\prime}$ ), the Laplace transform of $p_{t}(x)$ can be expressed as

$$
\begin{aligned}
r_{q}(x) & :=\int_{0}^{\infty} \mathrm{e}^{-q t} p_{t}(x) \mathrm{d} t \\
& =\frac{1}{2 \pi} \int_{\mathbb{R}} \operatorname{Re} \frac{\mathrm{e}^{-i \lambda x}}{q+\Psi(\lambda)} \mathrm{d} \lambda \\
& =\frac{1}{2 \pi} \int_{\mathbb{R}} \frac{(q+\theta(\lambda)) \cos \lambda x+\omega(\lambda) \sin \lambda x}{(q+\theta(\lambda))^{2}+\omega(\lambda)^{2}} \mathrm{~d} \lambda
\end{aligned}
$$

and thus $r_{q}(x)$ is a continuous resolvent density, i.e.,
$R_{q} f(x):=\mathbb{E}_{x}\left[\int_{0}^{\infty} \mathrm{e}^{-q t} f(X(t)) \mathrm{d} t\right]=\int_{\mathbb{R}} f(y) r_{q}(y-x) \mathrm{d} y$.
We now recall the excursion theory. Let $\mathbb{D}$ denote the set of càdlàg paths on $[0, \infty)$ taking values in $\mathbb{R}$. We set

$$
\mathbb{D}^{0}=\left\{w \in \mathbb{D}: w(t)=w\left(t \wedge T_{0}\right) \text { for all } t \geq 0\right\}
$$

which is sometimes called the excursion space. We denote the coordinate process on $\mathbb{D}$ by $X(t): X(t)(w)=w(t)$ for $w \in \mathbb{D}$. The set $\mathbb{D}$ is equipped with the $\sigma$-field generated by the totality of cylinder sets of $\mathbb{D}$. We denote

$$
\mathcal{F}_{t}=\sigma(X(s): s \leq t) .
$$

Since the state 0 is regular for itself, there exists a local time at 0 , i.e., a positive continuous additive functional which increases only when $X(t)$ stays at 0 . We denote by $L(t)$ the version of the local time normalized so that

$$
\mathbb{E}_{x}\left[\int_{0}^{\infty} \mathrm{e}^{-q t} \mathrm{~d} L(t)\right]=r_{q}(-x) \quad \text { for all } q>0 \text { and } x \in \mathbb{R}
$$

From this it is easy to see that

$$
\begin{equation*}
\mathbb{E}_{x}\left[\mathrm{e}^{-q T_{0}}\right]=\frac{r_{q}(-x)}{r_{q}(0)} \quad \text { for all } q>0 \text { and } x \in \mathbb{R} \tag{2.1}
\end{equation*}
$$

We write $\eta(l)$ for the right-continuous inverse of the local time:

$$
\eta(l)=\inf \{t \geq 0: L(t)>l\} \quad \text { for } l \geq 0
$$

Then the process $\left\{\eta(l), \mathbb{P}_{0}\right\}$ is a subordinator which explodes at time $\lambda:=L(\infty)$ when $X(t)$ is transient.

We now recall the excursion theory for our Lévy process. Let $\boldsymbol{n}$ be a $\sigma$-finite measure on $\mathbb{D}$ such that

$$
\begin{equation*}
\boldsymbol{n}\left[T_{0} \wedge 1\right]<\infty \quad \text { and } \quad \boldsymbol{n}(\mathbb{D})=\infty \tag{2.2}
\end{equation*}
$$

Let $p(l)=(p(l ; t))_{t \geq 0}$ be a Poisson point process with characteristic measure $\boldsymbol{n}$ defined on a probability space $(\Omega, \mathcal{F}, \mathbb{P})$; see [4] for the precise definition. We set

$$
\eta_{p}(l)=\sum_{s \leq l} T_{0}(p(s))
$$

and set

$$
\lambda_{p}=\inf \left\{l>0: \eta_{p}(l)=\infty\right\} .
$$

By the condition (2.2), we see that $\eta_{p}(l)$ is strictlyincreasing in $l \in\left[0, \lambda_{p}\right)$, and hence that there exists a continuous inverse process $L_{p}(t)$. We define

$$
X_{p}(t)=\left\{\begin{array}{lc}
p\left(l ; t-\eta_{p}(l-)\right) & \text { if } \eta_{p}(l-) \leq t<\eta_{p}(l) \\
0 & \text { for some } l \in\left[0, \lambda_{p}\right] \\
0 & \text { otherwise }
\end{array}\right.
$$

The following theorem is due to Itô [4] and Meyer [6].
Theorem 2.2 ([4] and [6]). There exists a unique $\sigma$-finite measure on $\mathbb{D}^{0}$ such that the condition (2.2) is satisfied and that, for a Poisson point process $p(l)$ with characteristic measure $\boldsymbol{n}$ defined on a probability space $(\Omega, \mathcal{F}, \mathbb{P})$, it follows that

$$
\left\{\eta_{p}, L_{p}, X_{p}, \lambda_{p}, \mathbb{P}\right\} \stackrel{\text { law }}{=}\left\{\eta, L, X, \lambda, \mathbb{P}_{0}\right\} .
$$

Using compensation formula, we can obtain the following.
Theorem 2.3. For any non-negative measurable function $f$, one has

$$
\boldsymbol{n}\left[\int_{0}^{T_{0}} \mathrm{e}^{-q t} f(X(t)) \mathrm{d} t\right]=\frac{1}{r_{q}(0)} \int_{\mathbb{R}} f(y) r_{q}(y) \mathrm{d} y
$$

Consequently, taking $f \equiv 1$, one has

$$
\int_{0}^{\infty} \mathrm{e}^{-q t} \boldsymbol{n}\left(T_{0}>t\right) \mathrm{d} t=\frac{1}{q r_{q}(0)} .
$$

A non-negative Borel function $h$ on $\mathbb{R}$ is called harmonic for the killed process if the following conditions hold:
(i) $\mathbb{E}_{x}^{0}[h(X(t))]=h(x)$ for all $x \in \mathbb{R}$;
(ii) $\boldsymbol{n}[h(X(t))]$ is finite constant in $t>0$.

It is easy to see that $h$ is harmonic for the killed process if and only if

$$
\begin{equation*}
q R_{q} h(x)=h(x)+r_{q}(-x) \quad \text { for all } q>0 \text { and } x \in \mathbb{R} . \tag{2.3}
\end{equation*}
$$

If $h$ is harmonic for the killed process and if $h(x)>0$ for all $x \neq 0$, then we may define $h$-transform $\left\{X(t), \mathbb{P}_{x}^{h}\right\}$ by

$$
\mathbb{E}_{x}^{h}\left[F_{t}\right]= \begin{cases}\frac{1}{h(x)} \mathbb{E}_{x}^{0}\left[F_{t} h(X(t))\right] & \text { if } x \neq 0 \\ \boldsymbol{n}\left[F_{t} h(X(t))\right] & \text { if } x=0\end{cases}
$$

for all $t>0$ and all non-negative $\mathcal{F}_{t}$-measurable functional $F_{t}$. Note that the process $\left\{X(t), \mathbb{P}_{x}^{h}\right\}$ may be regarded as the process conditioned to avoid zero; see [10] for the precise explanation. The following theorem is a generalization of the formula (1.1).

Theorem 2.4. Suppose that the following conditions are satisfied:
$(\mathbf{H}) h$ is harmonic for the killed process and $h(x)>0$ for all $x \neq 0$;
(T) there exists a density $\rho(t)$ such that $\boldsymbol{n}\left(T_{0} \in \mathrm{~d} t\right)=$ $\rho(t) \mathrm{d} t$ on $(0, \infty)$.

Then the excursion measure $\boldsymbol{n}$ enjoys the following disintegration formula:

$$
\boldsymbol{n}(\cdot)=\int_{0}^{\infty} \mathbb{P}_{0}^{h}(\cdot \mid X(t-)=0) \rho(t) \mathrm{d} t+\kappa \mathbb{P}_{0}^{h}(\cdot)
$$

where

$$
\kappa=\boldsymbol{n}\left(T_{0}=\infty\right)=\lim _{q \rightarrow 0+} \frac{1}{r_{q}(0)} .
$$

## 3. RENORMALIZED ZERO RESOLVENT

For $q>0$, we set

$$
h_{q}(x)=r_{q}(0)-r_{q}(-x), \quad x \in \mathbb{R} .
$$

Note that by (2.1) we have $h_{q}(x) \geq 0$. We call $h_{0}:=$ $\lim _{q \rightarrow 0+} h_{q}$ the renormalized zero resolvent, if the limit exists. We shall prove the following proposition.
Proposition 3.1. Suppose that $h_{0}$ exists. Then

$$
R_{q} h_{0}(x)<\infty \quad \text { for all } q>0 \text { and all } x \in \mathbb{R}
$$

Suppose, moreover, that there exists a non-negative measurable function $f(x)$ such that

$$
R_{q} f(x)<\infty \quad \text { for all } q>0 \text { and all } x \in \mathbb{R}
$$

and

$$
\begin{equation*}
h_{q}(x) \leq f(x) \quad \text { for all } q>0 \text { and all } x \in \mathbb{R} \tag{3.1}
\end{equation*}
$$

Then $h_{0}$ is harmonic for the killed process.
To prove Proposition 3.1, we need the following lemma.
Lemma 3.2. Suppose that the conditions ( $\left.\mathbf{L} 1^{\prime}\right)$ and ( $\mathbf{L} 2$ ) are satisfied. Then the following assertions hold:
(i) $\theta(\lambda) \rightarrow \infty$ as $\lambda \rightarrow \infty$.
(ii) $\int_{0}^{1} \frac{\lambda^{2}}{\theta(\lambda)} \mathrm{d} \lambda+\int_{1}^{\infty} \frac{1}{\theta(\lambda)} \mathrm{d} \lambda<\infty$.
(iii) $\lim _{q \rightarrow 0+} q r_{q}(0)=0$.

Proof. (i) Since $\mathrm{e}^{-\Psi(\lambda)}=\int_{-\infty}^{\infty} \mathrm{e}^{i \lambda x} p_{1}(x) \mathrm{d} x$, the RiemannLebesgue theorem yields $\mathrm{e}^{-\theta(\lambda)}=\left|\mathrm{e}^{-\Psi(\lambda)}\right| \rightarrow 0$ as $\lambda \rightarrow \infty$. This proves Claim (i).
(ii) By the dominated convergence theorem, we have

$$
\begin{aligned}
& \frac{\theta(\lambda)}{\lambda^{2}} \geq v+\int_{(-1,1)} \frac{1-\cos \lambda x}{(\lambda x)^{2}} x^{2} \nu(\mathrm{~d} x) \\
& \quad \underset{\lambda \rightarrow 0}{\longrightarrow} v+\frac{1}{2} \int_{(-1,1)} x^{2} \nu(\mathrm{~d} x)>0
\end{aligned}
$$

which shows $\int_{0}^{1} \frac{\lambda^{2}}{\theta(\lambda)} \mathrm{d} \lambda<\infty$. By (i), we have $\theta(\lambda) /(1+$ $\theta(\lambda)) \rightarrow 1$ as $\lambda \rightarrow \infty$. Hence, by ( $\mathbf{L} \mathbf{1}^{\prime}$ ), we obtain $\int_{1}^{\infty} \frac{1}{\theta(\lambda)} \mathrm{d} \lambda<\infty$.
(iii) Since we have

$$
\left|\operatorname{Re} \frac{q}{q+\Psi(\lambda)}\right| \leq \frac{q}{q+\theta(\lambda)} \leq \min \left\{1, \frac{1}{\theta(\lambda)}\right\},
$$

we may apply the dominated convergence theorem and we obtain

$$
\begin{aligned}
\lim _{q \rightarrow 0+} 2 \pi q r_{q}(0) & =\lim _{q \rightarrow 0+} \int_{\mathbb{R}} \operatorname{Re} \frac{q}{q+\Psi(\lambda)} \mathrm{d} \lambda \\
& =\int_{\mathbb{R}} \lim _{q \rightarrow 0+} \operatorname{Re} \frac{q}{q+\Psi(\lambda)} \mathrm{d} \lambda \\
& =0 .
\end{aligned}
$$

The proof is now complete.
We now prove Proposition 3.1.
Proof of Proposition 3.1. Let $q>0$ and $p>0$. Using the resolvent equation
$r_{q}(z-x)-r_{p}(z-x)+(q-p) \int_{\mathbb{R}} r_{q}(y-x) r_{p}(z-y) \mathrm{d} y=0$
for $x, z \in \mathbb{R}$, we have

$$
\begin{equation*}
R_{q} h_{p}(x)=\frac{h_{p}(x)}{q-p}+\frac{r_{q}(-x)}{q-p}-\frac{p r_{p}(0)}{q(q-p)} . \tag{3.2}
\end{equation*}
$$

By Fatou's lemma and by (iii) of Lemma 3.2, we have

$$
\begin{equation*}
q R_{q} h_{0}(x) \leq \liminf _{p \rightarrow 0+} q R_{q} h_{p}(x)=h_{0}(x)+r_{q}(-x)<\infty . \tag{3.3}
\end{equation*}
$$

By the assumption (3.1) and by the integrability (3.3), we may apply the dominated convergence theorem to (3.2) being taken limit as $q \rightarrow 0+$, and thus we obtain the identity (2.3) for $h=h_{0}$. This proves the claim.

## 4. SyMmEtric CASE

Let us recall several results of the symmetric case obtained in [9]. Assume that $\left\{X(t), \mathbb{P}_{x}\right\}$ is symmetric, i.e., $\left\{X(t), \mathbb{P}_{x}\right\}$ is identical in law to $\left\{-X(t), \mathbb{P}_{-x}\right\}$. In this case, we have $\nu(-B)=\nu(B)$ for all $B \in \mathcal{B}(\mathbb{R})$, where $-B=\{-x \in \mathbb{R}: x \in B\}$. Hence we have $\omega(\lambda) \equiv 0$ and

$$
r_{q}(x)=\frac{1}{\pi} \int_{0}^{\infty} \frac{\cos \lambda x}{q+\theta(\lambda)} \mathrm{d} \lambda \quad \text { for all } q>0 \text { and } x \in \mathbb{R}
$$

Theorem 4.1 ([9, Theorem 3.2]). Suppose that $\left\{X(t), \mathbb{P}_{x}\right\}$ is symmetric and that the conditions $\left(\mathbf{L} \mathbf{1}^{\prime}\right)$ and $(\mathbf{L 2})$ are satisfied. Then there exists a $\sigma$-finite measure $\sigma^{*}$ on $[0, \infty)$ such that

$$
\begin{equation*}
\frac{1}{q r_{q}(0)}=\int_{[0, \infty)} \frac{1}{q+\xi} \sigma^{*}(\mathrm{~d} \xi) \quad \text { for all } q>0 \tag{4.1}
\end{equation*}
$$

Consequently, it holds that $\kappa=\sigma^{*}(\{0\})$ and the condition
( $\mathbf{T}$ ) is satisfied with

$$
\rho(t)=\int_{(0, \infty)} \mathrm{e}^{-t \xi} \xi \sigma^{*}(\mathrm{~d} \xi)
$$

Theorem 4.2 ([9, Theorems 1.1 and 1.2]). Suppose that $\left\{X(t), \mathbb{P}_{x}\right\}$ is symmetric and that the conditions $\left(\mathbf{L 1}^{\prime}\right)$ and (L2) are satisfied. Then $h_{0}$ exists and is given as

$$
\begin{equation*}
h_{0}(x)=\frac{1}{\pi} \int_{0}^{\infty} \frac{1-\cos \lambda x}{\theta(\lambda)} \mathrm{d} \lambda \quad \text { for all } x \in \mathbb{R} . \tag{4.2}
\end{equation*}
$$

Moreover, $h=h_{0}(x)$ is harmonic for the killed process and the condition $(\mathbf{H})$ is satisfied.

Here we note that Theorem 4.2 is immediate from Proposition 3.1 and the fact that $h_{q}(x)$ increases as $q$ decreases to 0 , which can be seen by the expression

$$
h_{q}(x)=\frac{1}{\pi} \int_{0}^{\infty} \frac{1-\cos \lambda x}{q+\theta(\lambda)} \mathrm{d} \lambda .
$$

The dominating function $f$ in Proposition 3.1 can be chosen to be $h_{0}$.

## 5. Strictly stable case

Let us consider the case where $\left\{X(t), \mathbb{P}_{x}\right\}$ is a strictly stable process and is not a Brownian motion. The Lévy measure $\nu$ is given as

$$
\nu(\mathrm{d} x)= \begin{cases}c_{+}|x|^{-\alpha-1} \mathrm{~d} x & \text { on }(0, \infty) \\ c_{-}|x|^{-\alpha-1} \mathrm{~d} x & \text { on }(-\infty, 0)\end{cases}
$$

where $1<\alpha<2$ and $c_{+}$and $c_{-}$are non-negative constants such that $c_{+}+c_{-}>0$, and the Lévy-Khintchine exponent is given as

$$
\Psi(\lambda)=c_{\theta}|\lambda|^{\alpha}\left(1-i \beta \operatorname{sgn}(\lambda) \tan \frac{\pi \alpha}{2}\right)
$$

where $c_{\theta}>0$ and $\beta \in[-1,1]$ are constants given as

$$
c_{\theta}=\left(c_{+}+c_{-}\right) \frac{\pi}{\alpha S_{\alpha}}, \quad \beta=\frac{c_{+}-c_{-}}{c_{+}+c_{-}},
$$

with $S_{\alpha}=2 \Gamma(\alpha) \sin \frac{\pi \alpha}{2}$. We then have

$$
\begin{equation*}
\theta(\lambda)=c_{\theta}|\lambda|^{\alpha} \quad \text { and } \quad \omega(\lambda)=c_{\omega}|\lambda|^{\alpha} \operatorname{sgn}(\lambda) \tag{5.1}
\end{equation*}
$$

where $c_{\omega}=c_{\theta} \beta \cdot\left(-\tan \frac{\pi \alpha}{2}\right)$.
By (5.1), we have

$$
p_{t}(0)=c_{p} t^{-\frac{1}{\alpha}}, \quad r_{q}(0)=c_{r} q^{\frac{1}{\alpha}-1}
$$

where $c_{p}$ and $c_{r}$ are constants given as

$$
\begin{aligned}
& c_{p}=\frac{1}{\pi} \int_{0}^{\infty}\left(\cos c_{\omega} \lambda^{\alpha}\right) \mathrm{e}^{-c_{\theta} \lambda^{\alpha}} \mathrm{d} \lambda, \\
& c_{r}=\frac{1}{\pi} \int_{0}^{\infty} \frac{1+c_{\theta} \lambda^{\alpha}}{\left(1+c_{\theta} \lambda^{\alpha}\right)^{2}+\left(c_{\omega} \lambda^{\alpha}\right)^{2}} \mathrm{~d} \lambda .
\end{aligned}
$$

The condition ( $\mathbf{T}$ ) is satisfied with $\rho(t)$ being given as

$$
\rho(t)=\frac{1-\frac{1}{\alpha}}{c_{r} \Gamma\left(\frac{1}{\alpha}\right)} t^{\frac{1}{\alpha}-2} .
$$

By the direct computation, we can obtain the following formula:

$$
\begin{equation*}
h_{0}(x)=\frac{1-\beta \operatorname{sgn}(x)}{c_{\theta}\left(1+\beta^{2} \tan ^{2} \frac{\pi \alpha}{2}\right) C_{\alpha}}|x|^{\alpha-1} \tag{5.2}
\end{equation*}
$$

where $C_{\alpha}=2 \Gamma(\alpha) \cdot\left(-\cos \frac{\pi \alpha}{2}\right)$.
Note that this function $h_{0}$ has been appeared in Port [7, Theorem 2]: in the case $-1<\beta<1$, he obtained the asymptotic result

$$
\mathbb{P}_{x}\left(T_{0}>t\right) \sim C(\alpha, \beta) t^{-\rho} h_{0}(x) \quad \text { as } t \rightarrow \infty
$$

where $\rho=1-\frac{1}{\alpha} \in\left(\frac{1}{2}, 1\right)$ and $C(\alpha, \beta)$ is a certain positive constant and where $f \sim g$ means $f / g \rightarrow 1$. In the case $\beta=1$, i.e., the spectrally positive case, we have

$$
h_{0}(x)= \begin{cases}0 & \text { if } x \geq 0 \\ c(\alpha)|x|^{\alpha-1} & \text { if } x<0\end{cases}
$$

for some constant $c(\alpha)>0$. In this case, we consult Port [7, Theorem 2] for the case $x<0$ and Chaumont [3, third line on p. 386] for the case $x>0$ and we obtain

$$
\mathbb{P}_{x}\left(T_{0}>t\right) \sim \begin{cases}C_{+}(\alpha, 1) t^{-\frac{1}{\alpha}} x & \text { if } x>0 \\ C_{-}(\alpha, 1) t^{-\rho}|x|^{\alpha-1} & \text { if } x<0\end{cases}
$$

as $t \rightarrow \infty$, where $C_{+}(\alpha, 1)$ and $C_{-}(\alpha, 1)$ are some positive constants.

For harmonicity of $h_{0}$, we obtain the following.
Theorem 5.1. Suppose that $\left\{X(t), \mathbb{P}_{x}\right\}$ is a strictly stable process of index $1<\alpha<2$. If $-1<\beta<1$, then the condition ( $\mathbf{H}$ ) is satisfied. If $\beta=1$ or -1 , then $h_{0}$ is harmonic for the killed process.

Theorem 5.1 will be proved in Section 6.2.
Remark 5.2. In the case $\beta=1$, Silverstein proved in [8, Theorem 2] that the function $h_{0}$ satisfies

$$
\mathbb{E}_{x}\left[h_{0}(X(t)) ; T_{[0, \infty)}>t\right]=h_{0}(x) \quad \text { for all } x<0
$$

where $T_{[0, \infty)}=\inf \{t>0: X(t) \in[0, \infty)\}$. We can recover this result from Theorem 5.1. In fact, once the process starting from $x<0$ changes sign, then it stays positive until hitting zero. We thus obtain

$$
\mathbb{E}_{x}\left[h_{0}(X(t)) ; T_{[0, \infty)}>t\right]=\mathbb{E}_{x}^{0}\left[h_{0}(X(t))\right]=h_{0}(x)
$$

for all $x<0$. We also note that the transformed process $\left\{X(t), \mathbb{P}_{x}^{h_{0}}\right\}$, which is defined only for $x<0$, is nothing else but the process conditioned to stay negative, which was introduced by Chaumont [2].

## 6. Asymmetric case

6.1. Existence of Renormalized zero Resolvent

Proposition 6.1. Suppose that the conditions (L1') and (L2) are satisfied. Suppose, in addition, that the following condition is satisfied:
(L3) $\theta$ and $\omega$ have measurable derivatives on $(0, \infty)$ which satisfy

$$
\int_{0}^{\infty} \frac{\left(\left|\theta^{\prime}(\lambda)\right|+\left|\omega^{\prime}(\lambda)\right|\right)\left(\lambda^{2} \wedge 1\right)}{\theta(\lambda)^{2}+\omega(\lambda)^{2}} \mathrm{~d} \lambda<\infty
$$

Then $h_{0}$ exists and is given as

$$
h_{0}(x)=\frac{1}{\pi} \int_{0}^{\infty} \frac{\theta(\lambda)(1-\cos \lambda x)+\omega(\lambda) \sin \lambda x}{\theta(\lambda)^{2}+\omega(\lambda)^{2}} \mathrm{~d} \lambda
$$

Proof. Note that

$$
h_{q}(x)=r_{q}(0)-r_{q}(-x)=h_{q}^{(1)}(x)+h_{q}^{(2)}(x)
$$

where

$$
\begin{aligned}
& h_{q}^{(1)}(x)=\frac{1}{\pi} \int_{0}^{\infty} \frac{(q+\theta(\lambda))(1-\cos \lambda x)}{(q+\theta(\lambda))^{2}+\omega(\lambda)^{2}} \mathrm{~d} \lambda, \\
& h_{q}^{(2)}(x)=\frac{1}{\pi} \int_{0}^{\infty} \frac{\omega(\lambda) \sin \lambda x}{(q+\theta(\lambda))^{2}+\omega(\lambda)^{2}} \mathrm{~d} \lambda .
\end{aligned}
$$

By (ii) of Lemma 3.2, we have

$$
\int_{0}^{\infty} \frac{1-\cos \lambda x}{\theta(\lambda)} \mathrm{d} \lambda<\infty \quad \text { for all } x \in \mathbb{R}
$$

Hence we may apply the dominated convergence theorem and see that $h_{q}^{(1)}(x) \rightarrow h_{0}^{(1)}(x)$ as $q \rightarrow 0+$, where

$$
h_{0}^{(1)}(x)=\frac{1}{\pi} \int_{0}^{\infty} \frac{\theta(\lambda)(1-\cos \lambda x)}{\theta(\lambda)^{2}+\omega(\lambda)^{2}} \mathrm{~d} \lambda .
$$

Suppose that $x \neq 0$. Integrating by parts, we have

$$
h_{q}^{(2)}(x)=\frac{1}{\pi x} \int_{0}^{\infty} \frac{f_{q}(\lambda)(1-\cos \lambda x)}{\left\{(q+\theta(\lambda))^{2}+\omega(\lambda)^{2}\right\}^{2}} \mathrm{~d} \lambda
$$

where

$$
\begin{aligned}
f_{q}(\lambda)= & \omega(\lambda) \frac{\partial}{\partial \lambda}\left\{(q+\theta(\lambda))^{2}+\omega(\lambda)^{2}\right\} \\
& -\omega^{\prime}(\lambda)\left\{(q+\theta(\lambda))^{2}+\omega(\lambda)^{2}\right\} \\
= & \omega(\lambda) \cdot 2(q+\theta(\lambda)) \theta^{\prime}(\lambda) \\
& -\omega^{\prime}(\lambda)\left\{(q+\theta(\lambda))^{2}+\omega(\lambda)^{2}\right\} .
\end{aligned}
$$

We now have

$$
\left|f_{q}(\lambda)\right| \leq\left(\left|\theta^{\prime}(\lambda)\right|+\left|\omega^{\prime}(\lambda)\right|\right)\left\{(q+\theta(\lambda))^{2}+\omega(\lambda)^{2}\right\}
$$

and hence we have

$$
\begin{equation*}
\frac{\left|f_{q}(\lambda)\right|(1-\cos \lambda x)}{\left\{(q+\theta(\lambda))^{2}+\omega(\lambda)^{2}\right\}^{2}} \leq \frac{\left(\left|\theta^{\prime}(\lambda)\right|+\left|\omega^{\prime}(\lambda)\right|\right)(1-\cos \lambda x)}{\theta(\lambda)^{2}+\omega(\lambda)^{2}} \tag{6.1}
\end{equation*}
$$

Therefore, by the dominated convergence theorem, we obtain $h_{q}^{(2)}(x) \rightarrow h_{0}^{(2)}(x)$ as $q \rightarrow 0+$, where

$$
h_{0}^{(2)}(x)=\frac{1}{\pi x} \int_{0}^{\infty} \frac{f_{0}(\lambda)(1-\cos \lambda x)}{\left\{\theta(\lambda)^{2}+\omega(\lambda)^{2}\right\}^{2}} \mathrm{~d} \lambda
$$

Again by integration by parts, we obtain the desired result.
6.2. Harmonicity of renormalized zero resolVENT

Theorem 6.2. Suppose that $\theta$ and $\omega$ have measurable derivatives on $(0, \infty)$ which satisfy the following conditions:
(i) there exist constants $\underline{c}_{\theta}>0$ and $\bar{c}_{\theta}>0$ such that

$$
\alpha \underline{c}_{\theta} \lambda^{\alpha-1} \leq \theta^{\prime}(\lambda) \leq \alpha \bar{c}_{\theta} \lambda^{\alpha-1} \quad \text { for all } \lambda>0
$$

(ii) there exist constants $\underline{c}_{\omega}>0$ and $\bar{c}_{\omega}>0$ such that

$$
\alpha \underline{c}_{\omega} \lambda^{\alpha-1} \leq \omega^{\prime}(\lambda) \leq \alpha \bar{c}_{\omega} \lambda^{\alpha-1} \quad \text { for all } \lambda>0
$$

Then $h_{0}$ exists and there exists a constant $C$ such that

$$
h_{q}(x) \leq C|x|^{\alpha-1} \quad \text { for all } q>0 \text { and all } x \in \mathbb{R} .
$$

Suppose, moreover, that the following condition is satisfied:
(iii) it holds that

$$
\frac{\underline{c}_{\theta}\left(\underline{c}_{\theta}^{2}+\underline{c}_{\omega}^{2}\right)}{\bar{c}_{\theta}^{2}+\bar{c}_{\omega}^{2}} \cdot\left(-\tan \frac{\pi \alpha}{2}\right)>\max \left\{\bar{c}_{\omega}, \bar{c}_{\theta}-\underline{c}_{\omega}\right\}
$$

Then one has

$$
\begin{equation*}
\underline{c}|x|^{\alpha-1} \leq h_{0}(x) \leq \bar{c}|x|^{\alpha-1}, \quad x \in \mathbb{R} \tag{6.2}
\end{equation*}
$$

for some positive constants $\underline{c}$ and $\bar{c}$. Consequently, $h_{0}$ is harmonic for the killed process and the condition $(\mathbf{H})$ is satisfied.

Proof. We recall the following formula (see, e.g., [11, Proposition 7.1]):

$$
\begin{aligned}
C_{\alpha} & :=\int_{0}^{\infty} \frac{1-\cos x}{x^{\alpha}} \mathrm{d} x \\
& =\frac{\pi}{2 \Gamma(\alpha)\left(-\cos \frac{\pi \alpha}{2}\right)} \quad \text { for } \alpha \in(1,3) .
\end{aligned}
$$

Note that

$$
\int_{0}^{\infty} \frac{x-\sin x}{x^{\alpha+1}} \mathrm{~d} x=\frac{C_{\alpha}}{\alpha} \quad \text { for } \alpha \in(1,3)
$$

and

$$
\frac{C_{\alpha}}{\alpha C_{\alpha+1}}=-\tan \frac{\pi \alpha}{2} \quad \text { for } \alpha \in(1,2)
$$

Suppose that the conditions (i) and (ii) are satisfied. Since we have $\theta(0)=\omega(0)=0$, we have

$$
\underline{c}_{\theta} \lambda^{\alpha} \leq \theta(\lambda) \leq \bar{c}_{\theta} \lambda^{\alpha} \quad \text { for all } \lambda \geq 0
$$

and

$$
\underline{c}_{\omega} \lambda^{\alpha} \leq \omega(\lambda) \leq \bar{c}_{\omega} \lambda^{\alpha} \quad \text { for all } \lambda \geq 0
$$

We now notice that the conditions (L1'), (L2) and (L3) are all satisfied, which yields by Proposition 6.1 that $h_{0}$
exists. From the proof of Proposition 6.1, it holds, for all $q>0$ and $x \neq 0$, that

$$
\begin{aligned}
h_{q}(x) & \leq \frac{1}{\pi} \int_{0}^{\infty} \frac{1-\cos \lambda x}{\theta(\lambda)} \mathrm{d} \lambda+\frac{1}{\pi|x|} \int_{0}^{\infty} \frac{4 c_{3}(1-\cos \lambda x)}{\lambda \theta(\lambda)} \mathrm{d} \lambda \\
& \leq \frac{1}{\pi} \cdot \frac{C_{\alpha}}{\underline{c}_{\theta}}|x|^{\alpha-1}+\frac{4 c_{3}}{\pi|x|} \cdot \frac{C_{\alpha+1}}{\underline{c}_{\theta}}|x|^{\alpha} \\
& =c_{5}|x|^{\alpha-1}
\end{aligned}
$$

for some constant $c_{5}>0$.
Suppose that the condition (iii) is also satisfied. To prove the claim, it suffices to prove that $h_{0}(x) \geq \underline{c}|x|^{\alpha-1}$ for some constant $\underline{c}>0$. Note that

$$
\begin{aligned}
h_{0}^{(1)}(x) & \geq \frac{\underline{c}_{\theta}}{\pi\left(\bar{c}_{\theta}^{2}+\bar{c}_{\omega}^{2}\right)} \int_{0}^{\infty} \frac{1-\cos \lambda x}{\lambda^{\alpha}} \mathrm{d} \lambda \\
& =\frac{\underline{c}_{\theta}}{\pi\left(\bar{c}_{\theta}^{2}+\bar{c}_{\omega}^{2}\right)} C_{\alpha}|x|^{\alpha-1} .
\end{aligned}
$$

First, we let $x>0$. Since we have

$$
\begin{aligned}
-f_{0}(\lambda) & =2(-\omega(\lambda)) \theta(\lambda) \theta^{\prime}(\lambda)+\left\{\theta(\lambda)^{2}+\omega(\lambda)^{2}\right\} \omega^{\prime}(\lambda) \\
& \leq\left\{\theta(\lambda)^{2}+\omega(\lambda)^{2}\right\} \cdot \alpha \bar{c}_{\omega} \lambda^{\alpha-1}
\end{aligned}
$$

we have

$$
\begin{aligned}
-h_{0}^{(2)}(x) & \leq \frac{1}{\pi x} \int_{0}^{\infty} \frac{\alpha \bar{c}_{\omega} \lambda^{\alpha-1}(1-\cos \lambda x)}{\theta(\lambda)^{2}+\omega(\lambda)^{2}} \mathrm{~d} \lambda \\
& \leq \frac{1}{\pi x} \cdot \frac{\alpha \bar{c}_{\omega}}{\underline{c}_{\theta}^{2}+\underline{c}_{\omega}^{2}} \int_{0}^{\infty} \frac{1-\cos \lambda x}{\lambda^{\alpha+1}} \mathrm{~d} \lambda \\
& =\frac{\bar{c}_{\omega}}{\pi\left(\underline{c}_{\theta}^{2}+\underline{c}_{\omega}^{2}\right)} \alpha C_{\alpha+1}|x|^{\alpha-1}
\end{aligned}
$$

Hence we have

$$
h_{0}(x) \geq\left(\frac{\underline{c}_{\theta}}{\bar{c}_{\theta}^{2}+\bar{c}_{\omega}^{2}}\left(-\tan \frac{\pi \alpha}{2}\right)-\frac{\bar{c}_{\omega}}{\underline{c}_{\theta}^{2}+\underline{c}_{\omega}^{2}}\right) \frac{\alpha C_{\alpha+1}}{\pi}|x|^{\alpha-1} .
$$

Second, we let $x<0$. Since we have

$$
\begin{aligned}
f_{0}(\lambda) & =2 \omega(\lambda) \theta(\lambda) \theta^{\prime}(\lambda)-\left\{\theta(\lambda)^{2}+\omega(\lambda)^{2}\right\} \omega^{\prime}(\lambda) \\
& \leq\left\{\theta(\lambda)^{2}+\omega(\lambda)^{2}\right\}\left\{\theta^{\prime}(\lambda)-\omega^{\prime}(\lambda)\right\} \\
& \leq\left\{\theta(\lambda)^{2}+\omega(\lambda)^{2}\right\} \cdot \alpha\left(\bar{c}_{\theta}-\underline{c}_{\omega}\right) \lambda^{\alpha-1},
\end{aligned}
$$

we have

$$
\begin{aligned}
-h_{0}^{(2)}(x) & \leq \frac{1}{\pi|x|} \int_{0}^{\infty} \frac{\alpha\left(\bar{c}_{\theta}-\underline{c}_{\omega}\right) \lambda^{\alpha-1}(1-\cos \lambda x)}{\theta(\lambda)^{2}+\omega(\lambda)^{2}} \mathrm{~d} \lambda \\
& \leq \frac{1}{\pi|x|} \cdot \frac{\alpha\left(\bar{c}_{\theta}-\underline{c}_{\omega}\right)}{\underline{c}_{\theta}^{2}+\underline{c}_{\omega}^{2}} \int_{0}^{\infty} \frac{1-\cos \lambda x}{\lambda^{\alpha+1}} \mathrm{~d} \lambda \\
& =\frac{\bar{c}_{\theta}-\underline{c}_{\omega}}{\pi\left(\underline{c}_{\theta}^{2}+\underline{c}_{\omega}^{2}\right)} \alpha C_{\alpha+1}|x|^{\alpha-1}
\end{aligned}
$$

Hence we have

$$
h_{0}(x) \geq\left(\frac{\underline{c}_{\theta}}{\bar{c}_{\theta}^{2}+\bar{c}_{\omega}^{2}}\left(-\tan \frac{\pi \alpha}{2}\right)-\frac{\bar{c}_{\theta}-\underline{c}_{\omega}}{\underline{c}_{\theta}^{2}+\underline{c}_{\omega}^{2}}\right) \frac{\alpha C_{\alpha+1}}{\pi}|x|^{\alpha-1} .
$$

The proof is now complete.

We now proceed to prove Theorem 5.1.
Proof of Theorem 5.1. The proof in the case $-1<\beta<1$ has been already done by the former half of Theorem 6.2 and by the expression (5.2) of $h_{0}$.

The proof in the case $\beta=1$ or -1 is a direct consequence of [8, Theorem 2], but we give the proof for convenience of the reader. We shall prove the claim only for the case $\beta=1$. Denote

$$
(x)_{+}=\max \{x, 0\} \quad \text { and } \quad(x)_{-}=\max \{-x, 0\}
$$

By Proposition 3.1, we see that $R_{q} f_{-}(x)<\infty$ for all $q>0$ and $x \in \mathbb{R}$ with $f_{-}(x)=(x)_{-}^{\alpha-1}$. It is now sufficient to prove that $f_{+}(x):=(x)_{+}^{\alpha-1}$ satisfies

$$
\begin{equation*}
R_{q} f_{+}(x)<\infty \quad \text { for all } q>0 \text { and } x \in \mathbb{R} \tag{6.3}
\end{equation*}
$$

in fact, if we assume that (6.3) is satisfied, then we have $R_{q} f(x)<\infty$ for all $q>0$ and $x \in \mathbb{R}$ with $f(x)=|x|^{\alpha-1}$, and hence, by Proposition 3.1, we conclude that $h_{0}$ is harmonic for the killed process.

To prove (6.3), we recall the following formula from Corollary 2 on p. 94 of [12]:

$$
\mathbb{P}_{0}(X(1) \geq x) \sim Z(\alpha, \beta) x^{-\alpha-1} \quad \text { as } x \rightarrow \infty
$$

where $Z(\alpha, \beta)$ is a certain positive constant. Let $x \in \mathbb{R}$ be fixed. Then we have

$$
\begin{aligned}
R_{q} f_{+}(x) & =\int_{0}^{\infty} \mathrm{d} t \mathrm{e}^{-q t} \mathbb{E}_{x}\left[(X(t))_{+}^{\alpha-1}\right] \\
& =\int_{0}^{\infty} \mathrm{d} t \mathrm{e}^{-q t} \mathbb{E}_{0}\left[\left(x+t^{1 / \alpha} X(1)\right)_{+}^{\alpha-1}\right] \\
& \leq \int_{0}^{\infty} \mathrm{d} t \mathrm{e}^{-q t} \mathbb{E}_{0}\left[\left(|x|+t^{1 / \alpha} X(1)\right)_{+}^{\alpha-1}\right]
\end{aligned}
$$

It is obvious that

$$
\begin{gathered}
\int_{0}^{\infty} \mathrm{d} t \mathrm{e}^{-q t} \mathbb{E}_{0}\left[\left(|x|+t^{1 / \alpha} X(1)\right)_{+}^{\alpha-1} ; X(1) \leq 1\right] \\
\quad \leq \int_{0}^{\infty} \mathrm{d} t \mathrm{e}^{-q t}\left\{|x|+t^{1 / \alpha}\right\}^{\alpha-1}<\infty
\end{gathered}
$$

Since $\mathbb{P}_{0}(X(1) \geq y) \leq c y^{-\alpha-1}$ for all $y>1$ for some constant $c>0$, we have

$$
\begin{aligned}
& \int_{0}^{\infty} \mathrm{d} t \mathrm{e}^{-q t} t^{1-\alpha} \mathbb{E}_{0}\left[X(1)^{\alpha-1}-1 ; X(1)>1\right] \\
& \quad=\int_{0}^{\infty} \mathrm{d} t \mathrm{e}^{-q t} t^{1-\alpha} \int_{1}^{\infty}(\alpha-1) y^{\alpha-2} \mathbb{P}_{0}(X(1) \geq y) \mathrm{d} y \\
& \quad \leq c(\alpha-1) \int_{0}^{\infty} \mathrm{d} t \mathrm{e}^{-q t} t^{1-\alpha} \int_{1}^{\infty} y^{-3} \mathrm{~d} y<\infty
\end{aligned}
$$

Since $(a+b)^{p} \leq a^{p}+b^{p}$ for all $a, b>0$ and all $0<p<1$, we obtain

$$
\begin{aligned}
& \int_{0}^{\infty} \mathrm{d} t \mathrm{e}^{-q t} \mathbb{E}_{0}\left[\left\{|x|+t^{1 / \alpha} X(1)\right\}^{\alpha-1} ; X(1)>1\right] \\
& \quad \leq \int_{0}^{\infty} \mathrm{d} t \mathrm{e}^{-q t} \mathbb{E}_{0}\left[|x|^{\alpha-1}+t^{1-\alpha} X(1)^{\alpha-1} ; X(1)>1\right]<\infty
\end{aligned}
$$

We thus obtain (6.3). The proof is now complete.

### 6.3. Existence of Duration density

Lemma 6.3. Suppose that ( $\mathbf{L} \mathbf{1}^{\prime}$ ) and ( $\left.\mathbf{L 2} \mathbf{2}\right)$ are satisfied. Then the function $z \mapsto r_{z}(0)$ can be analytically continuated to a holomorphic function on the domain $\{z \in \mathbb{C}: \operatorname{Re} z>$ $0\}$, and the formula

$$
\begin{equation*}
r_{z}(0)=\frac{1}{\pi} \int_{0}^{\infty} \frac{z+\theta(\lambda)}{(z+\theta(\lambda))^{2}+\omega(\lambda)^{2}} \mathrm{~d} \lambda \tag{6.4}
\end{equation*}
$$

is still valid on $\{z \in \mathbb{C}: \operatorname{Re} z>0\}$.
Proof. For $z \in \mathbb{C}$ and $\lambda>0$, let

$$
F_{\lambda}(z)=(z+\theta(\lambda))^{2}+\omega(\lambda)^{2}
$$

Let $z=q+i x$ with $q>0$ and $x \in \mathbb{R}$. We have

$$
\begin{align*}
& \left|F_{\lambda}(q+i x)\right|^{2} \\
& =\left|(q+i x+\theta(\lambda))^{2}+\omega(\lambda)^{2}\right|^{2} \\
& =\left|(q+\theta(\lambda))^{2}+\omega(\lambda)^{2}-x^{2}+2 i x(q+\theta(\lambda))\right|^{2} \\
& =\left\{(q+\theta(\lambda))^{2}+\omega(\lambda)^{2}-x^{2}\right\}^{2}+\{2 x(q+\theta(\lambda))\}^{2} \\
& =x^{4}+2\left\{(q+\theta(\lambda))^{2}-\omega(\lambda)^{2}\right\} x^{2}+\left\{(q+\theta(\lambda))^{2}+\omega(\lambda)^{2}\right\}^{2} \\
& =\left(x^{2}-\omega(\lambda)^{2}\right)^{2}+(q+\theta(\lambda))^{2}\left\{(q+\theta(\lambda))^{2}+2 \omega(\lambda)^{2}+2 x^{2}\right\} . \tag{6.5}
\end{align*}
$$

Note that

$$
\begin{align*}
\partial_{z} \frac{z+\theta(\lambda)}{F_{\lambda}(z)} & =\frac{F_{\lambda}(z)-(z+\theta(\lambda)) \partial_{z} F_{\lambda}(z)}{F_{\lambda}(z)^{2}} \\
& =\frac{-(z+\theta(\lambda))^{2}+\omega(\lambda)^{2}}{F_{\lambda}(z)^{2}} \tag{6.6}
\end{align*}
$$

If $q>q_{0}>0$, we obtain

$$
\begin{align*}
\left|\partial_{z} \frac{z+\theta(\lambda)}{F_{\lambda}(z)}\right| & \leq \frac{|z+\theta(\lambda)|^{2}+\omega(\lambda)^{2}}{\left|F_{\lambda}(z)\right|^{2}}  \tag{6.7}\\
& \leq \frac{(q+\theta(\lambda))^{2}+x^{2}+\omega(\lambda)^{2}}{(q+\theta(\lambda))^{2}\left\{(q+\theta(\lambda))^{2}+2 \omega(\lambda)^{2}+2 x^{2}\right\}} \\
& \leq \frac{1}{(q+\theta(\lambda))^{2}} \\
& \leq \frac{1}{q_{0}(q+\theta(\lambda))} \in L^{1}(\mathrm{~d} \lambda)
\end{align*}
$$

Hence, by ( $\mathbf{L} \mathbf{1}^{\prime}$ ), we see that the right hand side of (6.4) is holomorphic on $\{z \in \mathbb{C}: \operatorname{Re} z>0\}$. The proof is now complete.

Let us give a sufficient condition for ( $\mathbf{T}$ ) to be satisfied.
Theorem 6.4. Suppose there exist constants $1<\alpha<2$, $\underline{c}_{\theta}>0$ and $\bar{c}_{\theta}>0$ such that

$$
\begin{equation*}
\underline{c}_{\theta} \lambda^{\alpha} \leq \theta(\lambda) \leq \bar{c}_{\theta} \lambda^{\alpha}, \quad \lambda>0 \tag{6.8}
\end{equation*}
$$

and $\underline{c}_{\omega}>0$ and $\bar{c}_{\omega}>0$ such that

$$
\begin{equation*}
\underline{c}_{\omega} \lambda^{\alpha} \leq \omega(\lambda) \leq \bar{c}_{\omega} \lambda^{\alpha}, \quad \lambda>0 \tag{6.9}
\end{equation*}
$$

Then it follows that the conditions ( $\mathbf{L} 1^{\prime}$ ), (L2) and ( $\mathbf{T}$ ) are satisfied.

Proof. The condition ( $\mathbf{L 1}^{\prime}$ ) is obviously satisfied. If the condition (L2) were not satisfied, i.e., $v=0$ and $\int_{(-1,1)}|x| \nu(\mathrm{d} x)<\infty$, then it would hold that

$$
\begin{aligned}
\frac{\theta(\lambda)}{\lambda} & \leq \int_{(-1,1)} \frac{1-\cos \lambda x}{\lambda x} x \nu(\mathrm{~d} x)+\frac{4}{\lambda} \nu\left((-1,1)^{c}\right) \\
& \rightarrow 0 \quad \text { as } \lambda \rightarrow \infty
\end{aligned}
$$

which would contradict the assumption. Thus we see that (L2) is satisfied.

By Theorem 2.3 and by Lemma 6.3, we see that

$$
\begin{aligned}
\int_{0}^{\infty} \mathrm{e}^{-z t} t^{2} \boldsymbol{n}\left(T_{0} \in \mathrm{~d} t\right) & =-\left(\partial_{z}\right)^{2} \frac{1}{r_{z}(0)} \\
& =\frac{\partial_{z}^{2} r_{z}(0)}{r_{z}(0)^{2}}-\frac{2\left(\partial_{z} r_{z}(0)\right)^{2}}{r_{z}(0)^{3}}
\end{aligned}
$$

holds for $\operatorname{Re} z>0$. Once we prove that

$$
\varphi(x):=\left[\frac{\partial_{z}^{2} r_{z}(0)}{r_{z}(0)^{2}}-\frac{2\left(\partial_{z} r_{z}(0)\right)^{2}}{r_{z}(0)^{3}}\right]_{z=1+i x} \in L^{1}(\mathrm{~d} x)
$$

we may invert the Fourier transform so that

$$
\int_{0}^{\infty} \mathrm{e}^{-i x t} \mathrm{e}^{-t} t^{2} \boldsymbol{n}\left(T_{0} \in \mathrm{~d} t\right)=\varphi(x)
$$

and obtain $\boldsymbol{n}\left(T_{0} \in \mathrm{~d} t\right)=\rho(t) \mathrm{d} t$, where

$$
\rho(t)=\frac{1}{\mathrm{e}^{-t} t^{2}} \cdot \frac{1}{2 \pi} \int_{-\infty}^{\infty} \mathrm{e}^{i t x} \varphi(x) \mathrm{d} x
$$

Let us obtain estimates involving variables $x \in \mathbb{R}$ and $\lambda>0$. On one hand, using the assumption, we can easily obtain

$$
c_{1}\left(1+|x|+\lambda^{\alpha}\right)^{2} \leq\left|F_{\lambda}(1+i x)\right| \leq c_{2}\left(1+|x|+\lambda^{\alpha}\right)^{2}
$$

for some constants $c_{1}>0$ and $c_{2}>0$. We can also obtain

$$
\begin{aligned}
\left|r_{1+i x}(0)\right| & \geq\left|\operatorname{Re} r_{1+i x}(0)\right| \\
& =\frac{1}{\pi} \int_{0}^{\infty} \frac{\theta(\lambda)}{\left|F_{\lambda}(1+i x)\right|} \mathrm{d} \lambda \\
& \geq c_{3}(1+|x|)^{\frac{1}{\alpha}-1}
\end{aligned}
$$

for some constant $c_{3}>0$. By (6.7) and (6.5), we have

$$
\begin{aligned}
\left|\left[\partial_{z} \frac{z+\theta(\lambda)}{F_{\lambda}(z)}\right]_{z=1+i x}\right| & \leq \frac{|1+i x+\theta(\lambda)|^{2}+\omega(\lambda)^{2}}{\left|F_{\lambda}(1+i x)\right|^{2}} \\
& \leq \frac{1}{c_{2}\left(1+|x|+\lambda^{\alpha}\right)^{2}}
\end{aligned}
$$

We now obtain

$$
\begin{aligned}
\left|\left[\partial_{z} r_{z}(0)\right]_{z=1+i x}\right| & \leq \frac{1}{\pi} \int_{0}^{\infty}\left|\left[\partial_{z} \frac{z+\theta(\lambda)}{F_{\lambda}(z)}\right]_{z=1+i x}\right| \mathrm{d} \lambda \\
& \leq c_{4}(1+|x|)^{\frac{1}{\alpha}-2}
\end{aligned}
$$

for some constant $c_{4}>0$. Hence we obtain

$$
\begin{aligned}
\left|\left[\frac{2\left(\partial_{z} r_{z}(0)\right)^{2}}{r_{z}(0)^{3}}\right]_{z=1+i x}\right| & \leq \frac{2 c_{4}^{2}(1+|x|)^{\frac{2}{\alpha}-4}}{c_{3}^{3}(1+|x|)^{\frac{3}{\alpha}-3}} \\
& \leq c_{5}(1+|x|)^{-\frac{1}{\alpha}-1}
\end{aligned}
$$

for some constant $c_{5}>0$. On the other hand, since we have

$$
\begin{aligned}
\left|\left[\partial_{z}^{2} \frac{z+\theta(\lambda)}{F_{\lambda}(z)}\right]_{z=1+i x}\right| & \leq\left|\left[\frac{-4(z+\theta(\lambda)) \omega(\lambda)^{2}}{F_{\lambda}(z)^{3}}\right]_{z=1+i x}\right| \\
& \leq c_{6}\left(1+|x|+\lambda^{\alpha}\right)^{-3}
\end{aligned}
$$

for some constant $c_{6}>0$, we obtain

$$
\begin{aligned}
\left|\left[\partial_{z}^{2} r_{z}(0)\right]_{z=1+i x}\right| & \leq \frac{1}{\pi} \int_{0}^{\infty}\left|\left[\partial_{z}^{2} \frac{z+\theta(\lambda)}{F_{\lambda}(z)}\right]_{z=1+i x}\right| \mathrm{d} \lambda \\
& \leq c_{7}(1+|x|)^{\frac{1}{\alpha}-3}
\end{aligned}
$$

for some constant $c_{7}>0$. We thus obtain

$$
\begin{aligned}
\left|\left[\frac{\partial_{z}^{2} r_{z}(0)}{r_{z}(0)^{2}}\right]_{z=1+i x}\right| & \leq \frac{c_{7}(1+|x|)^{\frac{1}{\alpha}-3}}{c_{3}^{2}(1+|x|)^{\frac{2}{\alpha}-2}} \\
& \leq c_{8}(1+|x|)^{-\frac{1}{\alpha}-1}
\end{aligned}
$$

for some constant $c_{8}>0$.
Therefore we conclude that

$$
|\varphi(x)| \leq\left(c_{5}+c_{8}\right)(1+|x|)^{-\frac{1}{\alpha}-1}
$$

which proves that $\varphi(x) \in L^{1}(\mathrm{~d} x)$. The proof is now complete.

## References

[1] J. Bretagnolle. Résultats de Kesten sur les processus à accroissements indépendants. In Séminaire de Probabilités, V (Univ. Strasbourg, année universitaire 1969-1970), pages 21-36. Lecture Notes in Math., Vol. 191. Springer, Berlin, 1971.
[2] L. Chaumont. Conditionings and path decompositions for Lévy processes. Stochastic Process. Appl., 64(1):39-54, 1996.
[3] L. Chaumont. Excursion normalisée, méandre et pont pour les processus de Lévy stables. Bull. Sci. Math., 121(5):377-403, 1997.
[4] K. Itô. Poisson point processes attached to Markov processes. In Proceedings of the Sixth Berkeley Symposium on Mathematical Statistics and Probability (Univ. California, Berkeley, Calif., 1970/1971), Vol. III: Probability theory, pages 225-239, Berkeley, Calif., 1972. Univ. California Press.
[5] H. Kesten. Hitting probabilities of single points for processes with stationary independent increments. Memoirs of the American Mathematical Society, No. 93. American Mathematical Society, Providence, R.I., 1969.
[6] P. A. Meyer. Processus de Poisson ponctuels, d'après K. Ito. In Séminaire de Probabilités, V (Univ. Strasbourg, année universitaire 1969-1970), pages 177-190. Lecture Notes in Math., Vol. 191. Springer, Berlin, 1971. Erratum in p. 253, Séminaire de Probabilités, VI, Lecture Notes in Math., Vol. 258, 1972.
[7] S. C. Port. Hitting times and potentials for recurrent stable processes. J. Analyse Math., 20:371-395, 1967.
[8] M. L. Silverstein. Classification of coharmonic and coinvariant functions for a Lévy process. Ann. Probab., 8(3):539-575, 1980.
[9] K. Yano. Excursions away from a regular point for onedimensional symmetric Lévy processes without Gaussian part. Potential Anal., 32(4):305-341, 2010.
[10] K. Yano. Two kinds of conditionings for stable Lévy processes. In Probabilistic approach to geometry, volume 57 of Adv. Stud. Pure Math., pages 493-503. Math. Soc. Japan, Tokyo, 2010.
[11] K. Yano, Y. Yano, and M. Yor. On the laws of first hitting times of points for one-dimensional symmetric stable Lévy processes. In Séminaire de probabilités XLII, volume 1979 of Lecture Notes in Math., pages 187-227. Springer, Berlin, 2009.
[12] V. M. Zolotarev. One-dimensional stable distributions, volume 65 of Translations of Mathematical Monographs. American Mathematical Society, Providence, RI, 1986. Translated from the Russian by H. H. McFaden, Translation edited by Ben Silver.

Kouji Yano
Graduate School of Science, Kyoto University, Kyoto, 6068502, Japan
E-mail: kyano(at)math.kyoto-u.ac.jp

